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How many vertices 

does a cuboid have? 

work out 

150 × 12

Jade cuts 4 metres of ribbon into three pieces. The 

length of the first piece is 124 cm. The length of the 

second piece is 1.65 metres.

Work out the length of the third piece.

MAY … a little bit of maths every day

What is 

6 ÷ 0.3 ?

Calculate 

5 - 14

What is 

238 ÷ 7?

Calculate 

50
 
x (36 ÷ 6) 

What is the missing 

value? 

? = 942 - 395

Calculate 

3.9 + 12.042

Work out

4 ÷ 1 

Calculate 

0.2 x 10

 REMEMBER: The best way to revise 

maths is to "do  Maths"!

Calculate What is 

6 ÷ 0.25 ?

Put these numbers in size 

order (smallest first) 

0.78    0.607   5.6   

0.098  4.003

What is 

12.007 - 7.8 ?

What is ? 

Round 8 486 to the 

nearest thousand.

Calculate

 18 x 46

What is 

25% of 1800? 

What is 

1089 - 100? 

Calculate 

15% of £120

Which two numbers multiply together to equal 1 

million. 

200          2,000          5,000      50,000

What is 

5 million minus 

150,000  ?

What is 

894 - 89 ? 

Calculate 

-7 - 12

Lara chooses a number greater than 20 

She divides it by 2 and then adds 6 

She then divides this result by 4. Her answer is 4.5

What was the number she started with?

A toy shop orders 11 boxes of marbles. Each box 

contains 6 bags of marbles. Each bag contains 45 

marbles. 

How many marbles does the shop order in total?
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